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General Instructions :

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section - A comprises of 10 questions of 1 mark each, Section - B comprises of 8 questions of
2 marks each, Section - C comprises of 10 questions of 3 marks each and Section - D comprises
of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section - A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice has been provided in 1 question of two
marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.

An additional 15 minutes time has been allotted to read this question paper only.
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SECTION - A

Question numbers 1 to 10 carry 1 mark each. For each of the question 1-10, four
alternatives choices have been provided of which only one is correct. You have to
select the correct choice

1.  The roots of the quadratic equation /3 x2- 2x—/3 =0 are
1 V3 2 -1
3 |k N2 2 V3, =
(A) 3 B) 23 (© (D) 3

27 3

2. Inthe given figure, if PQ is a tangent to the circle with centre O, OP =13 cm and OQ =
5 cm, then PQ equals

(A) 7cm (B) 15 cm (©) 12 cm (D) 14 cm

3. If AB =4 m and AC = 8 m, then angle of observation of A as observed from C is.

A
5
B C
(A) 60° (B) 30°
(C) 45° (D) cannot be determined
4. The sequence of numbers - 10, -6, -2, 2, ...... is
(A) an AP with d =-16 (B) an AP withd =4
(C) an AP withd =-4 (D) not an AP
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10.

PQ and PT are tangents to a circle with centre O and radius 5 cm. If PQ = 12, then
perimeter of quadrilateral PQOT is

(A) 24 cm (B) 34 cm (C) 17 cm (D) 20 cm

The probability of getting a number between 1 and 100 which is divisible by 7 is

(C) 25/98 (D) 23/98

(A) 29/98 (B) ;

A line which is perpendicular to the radius of the circle through the point of contact is
called a

(A) tangent (B) chord (C) normal (D) segment

The ratio of volume of a cone and a cylinder of equal diameter and equal height is

(A) 3:1 (B) 1:3 S 1:2 (D) 2:1

Number of tangents to a circle which are parallel to a secant is

(A) 1 (B) 2 (C) 3 (D) infinite

The minute hand of a clock is 21 cm long The distance moved by the tip of the minute
hand in 1 hour is

(A) 21 wcm (B) 42w cm (C) 105w cm (D) 7mcm
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SECTION - B
Question numbers 11 to 18 carry 2 marks each.

If S, denotes the sum of n terms of an AP whose common difference is d and first term
isa, findS_ -2S, {1+ S, _,.

Two tangents PA and PB are drawn to a circle with centre O, such that 0 APB = 120",
Prove that OP = 2 AP.

Solve the equation : 10ax2+15ax - 6x -9 =0, a Z 0.

The total surface area of a right circular cone is 90 m cm?2. If the radius of base of the
cone is 5 cm, find the height of the cone

Show that P ( 1, - 1) is the centre of the circle circumscribing the triangle whose angular
points are A (4,3), B (- 2,3) and C (6, - 1).

The wheels of a car are of diameter 80 cm each. How many complete revolutions does
each wheel make in 10 minutes when the car is travelling at the speed of 66 km/hour ?

One end of a diameter of a circle is at (2, 3) and the centre is ( - 2, 5). What are the
coordinates of the other end of its diameter ?

In a leap year, find the probability that there are 53 Tuesdays in the year.
SECTION -C

Question numbers 19 to 28 carry 3 marks each.

1 1
Find the roots of the equation: =~ ~—— = 3, x 20,2

OR

Find two consecutive odd positive integers, sum of whose squares is 290.

Construct a triangle ABC in which AB = 4cm, 0B = 120° and BC =5 cm . Construct

4
another triangle, whose sides are 5 times the corresponding sides of AABC
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In the given figure , a circle touches all the four sides of a quadrilateral ABCD with
sides AB =6 cm, BC =7 cm and CD =4 cm. Find AD.

A S B

@

D Q
OR

If all the sides of a parallelogram touch a circle, prove that the parallelogram is a
rhombus.

How many terms of the AP - 6, -11/2, -5, .... are needed to give the sum - 25 ?

IfP(2,1),Q4 2),R (5 4) and S (3, 3) are vertices of a quadrilateral PORS, find the
area of the quadrilateral PQRS.

How many spherical bullets can be made out of a solid cube of lead whose edge measures
44 cm, each bullet being 4 cm in diameter.

OR

How many spherical lead shots each 4.2 cm in diameter can be obtained from a

rectangular solid of lead with dimensions 66 cm, 42 cm, 21 cm [Use =7 ].

Find the elevation of the sun at the moment when the length of the shadow of a vertical
tower is just equal to the height of the tower.

In the figure. OACB represents a quadrant of circle of radius 3.5 cm with centre O.
Calculate the area of quardrant OACB.

22
Also, calculate the area of shaded portion DACB, if OD < 2 cm also Take = ]

O™ 35wm A

Find the value of p for which the points (-5, 1), (1, p) and (4, -2) are collinear.

A bag contains cards numbered from 1 to 25, one card is drawn at random from the
bag. Find the probability that this card has a number which is divisible by both 2 and 3.
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SECTION -D
Question numbers 29 to 34 carry 4 marks each.

Show that the sum of all odd integers between 1 and 1000 which are divisible by 3 is
83667.

Prove that the lengths of tangents drawn from an external point to a circle are equal.

Find the perimeter of the shaded region in the figure given below.
S

P
Cl1l4cm D

A 14cm B

Q

A metallic bucket is in the shape off a frustum of a cone. If the diameter of two circular
ends of the bucket are 45 cm and 25 cm respectively and the total vertical height is 24
cm find the area of the metallic sheet used to make the bucket. Also find the volume of
water of it can hold.

45 cm

OR
A cone of radius 10 cm is divided into two parts by drawing a plane through the
mid-point of its axis, parallel to its base. Compare the volume of two parts.

A two digit number is such that product of its digit is 18. When 63 is subtracted from
the number, the digits interchange their places. Find the number.
OR

x+4
Solve for x : H -

B2

From a point on the ground, the angles of elevation of the bottom and top of a
transmission tower fixed at the top of 20 m high building are 45° and 60" respectively.
Find the height of the transmission tower.

-00o0-
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1. fooma wfieeo V3 x2-2x -3 =0 FHAE :

&
S

1 2
@ BF  ® 23 © .- F O

2. T AHAH, PQF= O A I i Tk T WM §, OP =13 cm 3R OQ =5 cm ¥ 9,
PQ R T :

P Q

(A) 7cm (B) 15 cm (C) 12 cm (D) 14 cm

3. oMpfaH Al AB=4mIRAC=8m® @ CH I@T W A H I SV ¢ :

A
-
B C
(A) 60° (B) 30°
(C) 45° (D) Truifta & foram ST ehan |

4. GemsAl —10, -6, —2,2, ... T FATHA T :
(A) TH AP. 51 d= —16 I (B) TH AP. fSasid=4 %

(C) THAP. SE&Id=-47% (D) T&HAP. T
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5.  Afd H, PQ 3IRPT &= O el I ohi T9¥1 Wad & 91 91 i =11 5 cm §1 4afg PQ =
12 cm. &, @ 9gys PQOT o1 9fHAM T

(A) 24 cm (B) 34 cm (C) 17 cm (D) 20 cm

6. 13 100 o= 7 9 favysa T& 9 Hid i ifdehdl © :

(C) 25/98 (D) 23/98

(A) 29/98 (B) %

7. 9% @ S w9 fag W S S dTelt 9 i e W o Bt ¥, e ©

(A) w1 @ (B) Sftem () sifyaa (D) JaGEeS

8. ISR A IR SRR HaTg dlet eh ¥igh 31X 9ot o a1 ol 319U © :

(A 3:1 (B) 1:3 < 1:2 (D) 2:1

9. I HI fHE Beh W@ & GHIR TR @Rl w gEew T

A) 1 (B) 2 (C) 3 (D) SURfHd

10. PR oS R TR T UmMTAR AT TEF MW IR A IR @R

(A) 21 wcm (B) 42w cm (C) 10,5 wcm (D) 7mcm
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